
Product Mounting Disclaimer 
Gamber-Johnson is not liable under any theory of contract or tort law for any loss, damage, personal injury, special, incidental or consequential damages for personal injury or other damage 
of any nature arising directly or indirectly as a result of the improper installation or use of its products in vehicle or any other application. In order to safely install and use Gamber-Johnson 
products full consideration of vehicle occupants, vehicle systems (i.e., the location of fuel lines, brakes lines, electrical, drive train or other systems), air-bags and other safety equipment is 
required. Gamber-Johnson specifically disclaims any responsibility for the improper use or installation of its products not consistent with the original vehicle manufactures specifications 
and recommendations, Gamber-Johnson product instruction sheets, or workmanship standards as endorsed through the Gamber-Johnson Certified Installer Program.

REV A INST-1199

LEG (DS)

LARGE WORKSTATION
MOUNTING LEGSLEG (PS)

INSTALLATION INSTRUCTIONS
Product Revision Form

If you need assistance or have questions, call Gamber-Johnson at 1-800-456-6868

Printing Spec:  PS-001LEG KIT - M2 FREIGHTLINER 2012+
7160-2021

QUANTITYDESCRIPTIONPART NO.
PARTS LIST

15207

15208

21723

7120-0921
    3130-0052•
    1173-3812•
    18406-0002•

LEG (Passenger Side)

LEG (Driver Side)

LARGE WORKSTATION MOUNTING LEG

HARDWARE BAG
    3/8 FLAT WASHER•
    3/8-16 X .75 HEX HEAD SCREW•
    M8 x 1.25 x 40mm SHCS FS-014 -•

1

1

2

1
    8•
    8•
    4•

Figure 1

1/2

© Copyright 2024 Gamber-Johnson, LLC



Workstation
mounting leg

Large
workstation
(shown for

visual effect)

2/2

M2 vehicle
mounting leg

INSTALLATION INSTRUCTIONS:

Remove in-board seat bolts and loosen the out-board seat bolts of  both 1.
driver and passenger seats.

Lift the seat up and slide the M2 vehicle Legs between the seats and the 2.
floor.  Install M8 socket head cap screws provided in hardware bag 7120-
0921 in place of the seat bolts removed and tighten in place.

Loosely attach the workstation mounting legs to the sides of the large 3.
workstation with the 3/8" hex bolts and flat washers found in hardware bag 
7120-0921.

Set the large workstation with the mounting legs attached onto the M2 vehicle 4.
legs.

Attach the large workstation legs to the M2 vehicle legs with the 3/8 hex bolts 5.
and flat washers provided in hardware bag 7120-0921.  Note there are 
multiple mounting locations for the workstation legs and the M2 vehicle legs.  
Tighten all the bolts to hold the large workstation secure.

NOTE:

This Leg Kit would not work with 
a bench seat (60-40 seat)


	Sheet1
	Drawing View1

	Sheet3
	Drawing View3


